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L@&H -, - Qurrg,j <ifle) (ULl Uiglil] SIb)

Part-B - General Studies (Degree Std)

Nerréser : 101-200 Qs wHuCuTsT 150
Questions :101-200 Total Marks : 150
101. In Periyar organised the Dravida Nadu conference for the

advocacy of a separate independent Dravida Nadu.

(A) 1937

(B) 1938

1939
(D) 1940

(E) Answer not known
e sallurer, ssprwrs Qeudu@n Srreill prial ghuOSSUSHSTE Quiflwimd
Sorell BT® ABTL I ener & Fnl lq G, o
(A) 1937

(B) 1938

(C) 1939

(D) 1940

(E) o Qzfwellevenew

102. Who was called as ‘Tilak of Tamilnadu’?

(A) E.V. Ramasamy

(B) C. Rajaji

(C) T.M. Nair _
~@” V.0. Chidambaram Pillai

(E) Answer not known

‘SLOPBTL g6 Heai eTamm SHemPSEILIGLIGIT W ?
(A) .Geu. grwosmd

(B) 4. grggred

(C) g.erib. BrwiT

D) 2. fgbugbd Gerear

(E) &Merr Qzfwelicrenew
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103. ‘Dare to do a thing ........... ’
........... it is shameful to say
As per the above Thirukkural how should we enter an action?
(A) After accumulating enormous wealth
(B) After doing sacrifice
W After deep thinking
(D) At an appropriate time

(E) Answer not known

........... sienfls smwd gaflbs Ger

........... eranl S(& S
ereucumyl (b Gewelldr FHuL Ceuamribd erars SHmeueT@reur Gumandius Gy
iPloypigidlpm

A) Aepwur Qurmer Coiss GAp@
(B) sraw Qsuis G9ns

(€)  powrss Apdss wspEL GnE
(D) sss sreowdss |
(E) e QsRwelvana

104. Who is the author of the haiku poem “Pullin nuniyil panithuli”? “There
are dews at the tip of the grass”.

& Arivumathi (B) Amutha barathi
(C) Kalaniuran (D) Tamilanban
(E) Answer not known

“Uaoeller mafluler uallsgial” eramp eansem seflens mradler <y AMwir wir?

A)  oflawd B) <igps umd
(C)  spallyyer (D) sblyperuer
(E) e Gsfweldrena
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105 What is the name of the poetic play which contains Neerarung
Kadaluduth.... the “Thamizh Thaai Vaazhthu”?

M/Ianonmaniam (B) Athirai

(C) Ambaapali (D) Anicha adi

(E) Answer not known

SOPSSTL uMpssTs @@sssliGupb “Brmph sLaBSs..... aan slbsasie
uarEsl LumLeé @LbQupmieer sellens BrLs mredler Guwim eree ?

(A)  wGarmanseu B ador

€) eubumLe D) wiafss oy

(E) e&len QgMweidvene

106. To come with gold and depart with curry
In which book does the above lines find a place?

(A) Malaipadukadaam
(B) Manimekalai

mattinapaalai

(D) Maduraikanchi

(E) Answer not known

‘QurenQerm® eupg sMAwr® QuuGD — Qg QLIbEUHD FHID 6T ?
(A)  weeLHSLLD |

(B) wefGusame

(C) ulgeiuree

D) wvas@rEsTEHS

(E) olenr QsNwefdena
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107. The capital city of Sangam Cheras was

(A) Kanchi
(B) Musiri
(C) Venni

M Vanji

(E) Answer not known

smssTe Cerrseafler samepsyb

A) smEpé
B) v
(C) Qeuarenf
D) aEpé

(E) e Qsfwelvena

108. What is the expansion of NSDP?

(A) National Service and Domestic Product

(B) Net State and District Product

(C) National Share in Domestic Product
M Net State Domestic Product

(E) Answer not known

NSDP e eflflunéaid WImg?

(A) Gzl Geaeu LHWD 2 THTLH 2 HLGH
(B) Aar wrfle wHpid wre L 2 HLss -
(C) GCsélw LmEE apT @ 2 pusHule
D) Pay wrfle e M@ 2 HUsH

(E) &enr Qsfweldvana
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109.

110.

is awarded to the BC/MBC/DNC boys and girls who secure
the first and second marks in the 12th public examination in each district
and pursue their studies in professional colleges in Tamil Nadu

(A) Annal Gandhi Memorial Award

W Perarignar Anna Memorial Award

(C) Muthulaxmi Ammaiyar Memorial Award

(D) Thanthai Periyar Memorial Award

(E) Answer not known

gaQeunm wreulLgdad 12 < a@uy Qurgs GCsielld @psed HMID
@rembd @QLiisamers Guss SOPHT R eder Ggmfed weop sogrilsetd
u9gs  BC/MBC/DNC  wreweu  wreweflwigg — eupmsluu@on  efl@nkgl
<4&LD.

A) oamemed asrpd Heavare| ofl(Hg

(B) CGunidepir erantm Hleavana] al(ma)

C) wssQa sl bawwnt Hlaare) elmg

(D) spews Quilwmt Henarey efma
(E) &lenr Qgfweiidena

What was the main purpose behind bringing Panchayati Raj system in
India?
(A) To prevent criminalization of politics
(B) Development of villages
W Decentralisation of the political power to the people
(D) To reduce election expenses
(E) Answer not known
@pHureiedr LEsTLSE TTHR Wopewu Cstarh apsdar wsdwuwrar CprésD
GTGITERT ?
A) <rdwele Gopeurailgmer sHLILSHE
B) Agmol yp eaTTEEES
(C) <irflued ofasrrsms LTauTEsD Qeliw
(D) Srflwued QFwemel GmDnEs
(E) e Asfucidma
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111. Tamilhadu 1s the largest Indian state by area.

(A)

N
©
(D)

Oth
10th
11th
12th

(E) Answer not known

Qidwu wrflotsald sOPHTE, LFiLaTeld — augl QLS5 2 drerg.

(A)
(B)
(©)
(D)
(E)

gos
10™#
11%¢
12%¢
ellenL QsMwefdena

112. Tamilnadu State Industries Development Corporation (TANSIDCO) was
established in the year

(A)
(B)

(D)

1960
1965
1970
1975

(E) Answer not known

sBPpETEH Ap Gsmfleoser eueriédls swsd (TANSIDCO) gautistiug L <yam

(A)
(B)
©
(D)
(E)

CAGS/2022
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113. A lent % 15,000 to B at the rate of interest of 14% per annum. After

114.

6 year, B returned ¥ 25,000 and a watch. The cost of watch is

W 72,600

(B) %1,980
(C) %1,850
(D) % 1,760
(E) Answer not known

A gaair oan® @amse 14% ety dssdd B-sg I 15,000-g sLams

QerRsdprt. 6 ar@sersE Gt B geaair A &5 I 25,000-0 om
&S HTIPL SHADTT aTafld massysTrsdan eilame

(A) % 2,600
(B) ¥ 1,980
(C) % 1,850
(D) 1,760
(E) oL Qsflueidama

When 60 is subtracted from 60% of a number to give 60, the number is
(A) 60 (B) 100

(C) 150 &7 200

(E) Answer not known

@i eramaniien 60% \mpg 6086 sfissmed 60 HaLsEw aafled, ibg eram
(A) 60 (B) 100

(C) 150 (D) 200

(E) &L Qsflwelébena
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115. If MATHEMATICS is denoted by 52793527618 then ETHICS is denoted
by?

(A) 397618 (B) 379168

(©) 376918 & 379618

(E) Answer not known

MATHEMATICS eremugy 52793527618 erempeuryy @dssiur_Lme ETHICS
eraTugl ereueumm GO L LLRID 2

(A) 397618 (B) 379168

(C) 376918 (D) 379618

(E) oflerr Qsfwcidae

116. What is the smallest 5 digit number that is exactly divisible by 72 and
108? '

M 10152
(B) 10052
(C) 10502
(D) 10512
(E) Answer not known
72 wpgd 108 @by aarsermd LTS AEULEsmGL BsEANL 5 @ads cam
GTGOT T ?
(A) 10152
(B) 10052
(C) 10502
(D) 10512
(E) ol Qsfweldene
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117.

118.

A alone can do a work in 10 days and B alone in 15 days. They undertook
the work for ¥ 2,00,000. The amount that B will get is

0( T 80,000 | (B) ¥ 1,00,000
(C) ¥ 1,40,000 (D) ¥ 1,20,000
(E) Answer not known

A eauair salCu @m Caumamow 10 prasefaid B geai salGu
15 pretseligid pyuui. Serser @bs GCamwamu ¥ 2,00,000 Qsrensds

uLs QaramLant arafles B Qupib Ggrans 2.
(A) ¥ 80,000 (B) ¥ 1,00,000
(C) T 1,40,000 (D) T 1,20,000

(E) e Qzflweierene

A can do a work in 15 days and B in 20 days. If they work on it together
for 4 days, then the fraction of the work that 1s left 1s

NI ® ¥,
© Y 7 8
(E) Answer not known |

A eeuair gm Gaumeomw 15 prisefgibd, B aemuauir Cs Ceuameenws
20 priseligid Qsiig Wyéss Quaibd. QBHAUGD Gsipg <Gz Geumaenw
4 preser Qewig e BgLOHESWD Cauanaullen iemey

@ ¥ ® ¥,
© % O Y

(E) &l Qgflweléema
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119. If the interest is’compounded quarterly, by which the following formula
can we calculate the amount?

_ r Y
A A= P(l + 100)

r \Zn
B A= P(l + —
100

3n

C) A= P(l +
100 )

r 4n
N A=P(1+MJ

(E) Answer not known

&L{ eulgurarg srtorarhéE @ wan sarsdllulird  Ggrasamw

T &HSHTSMSL LweTLHSHE SrarTemid.

_ r Y
(A) A= P(l + 100)

B) A P1+L)"

. 100

( r 3n
C) A=P1 +——)
100

r 4n
D) A-= P(l + 4_06)

(B) e Gsfueidame
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120. A sum of rupees 800 amounts to rupees 920 in 3 years at simple interest.
If the rate of interest is increased by 3%, what would be the amount?

(A) 990 | 092

(C) 1092 (D) 892

(E) Answer not known

epums 800 <yang 3 el safleuiguiedr GTESD. . 920 <5 LTMEDE. eullg
aisb 3% Saflssrd daLs@b grms eremer?

(A4) 990 (B) 992

(C) 1092 (D) 892

(E) e Qsflweleene

121. If 48 men working 7 hours a day can do a work in 24 days, then in how
many days will 28 men working 8 hours a day can complete the same

work?
& 36 days (B) 42 days
(C) 56 days (D) 28 days

(E) Answer not known

48 syamsdr @ Cueeamu praareamée 7 wefl Gprb Gewe Qewig)
24 prisefle pyuuir aafld 28 yamsdr G Ceumweverw BrEleTTeTm&E
8 werliGpyd Couamar Qg ersear Hrisafler g ium?

(A) 36 priser (B) 42 priser

(C) 56 priser (D) 28 priser

(E) &Mer Qsflwelweame
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122. Find the L.C.M. of (x° — as),v(x ~a).
Q) (x*-a*)(x+a) B) (x*-a’)(x-a)
(x —a) (x* + ax +a?) D) (x+a) (x*+ax +a?)

(E) Answer not known

(x3 - a3) WHMILD (x - a)zcﬂypé]wmlr_f)rrﬁ]dﬂ B.Cum.w.
@) (x"-a’)(x+a) B) (&’ -a’)(x-a)
C€) (x-a)(x* +ax +a*) D) (x+a) (x*+ax +a?)

(E) elenr Qsfwefevena

123. Find the G.C.D.of x* -1, x* - x> +x -1, x° —x* —x + 1.
A x*+1
B) (x*+1)(x+1)

M (x* +1)(x -1)

D) (x*-1)(x+1) |
(E) Answer not known

B.Qumeu smewrs x* -1, x° —x*+x -1, x° —x* —x +1.
A x*+1

B) (x*+1)(x+1)

C€) (x*+1)(x-1)

D (x*-1)(x+1)

(E) &l Gsfwefdvena
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124. 15% of 25% of 10,000 =

-(( 375
 (B) 40

©
D)

(E)

10,000 @er 25% wdiier 15% eremiig

(A)
(B)
(©)
(D)
(E)

0
425
475

Answer not known

375
400
425
475
enL Qzflweleenaw

125. The device used to perform chain reaction of nuclear fission in a
controlled manner is

M Nuclear reactor

(B) Atom bomb

©)
D)

Electric furnace

Chemical furnace

(E) Answer not known

SiemIdaEmL eTeneuullen ngj devarew sLHUUTLHLET LSS 2-Sa|b FISETD

(A)
(B)
©
D)
(E)

2bGLO-
SI@NEH(H 2 M6
A GETH

Wler By
Caudlelener i(hHLL
e GQsMwaeleane
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126. The path of a particle projected Into air with a given velocity in a
- particular direction is a
(A) Straight line (B) Ellipse
(C) Hyperbola M Parabola
(E) Answer not known
@G GOUALL dasteo, QarhésuurL HosGoussded Qsaussliur L gser
umenguiled Gaeogyid.
A) CriGsr@ | (B) fereur v
(C) <idugeuanerid (D) upeueerwib
(E) e Qsfwedcrene

127. Which of the following best defines rote memorization?

| M A learning process that involves repetition until something 1is

(B)

(®)
D)
(E)

remembered verbatim.

A method of writing something down in order to remember it more
easily.

Repeatedly quizzing yourself.
None of the above.

Answer not known.

GOLG warturLb deweded Geremeauaeupmer argl HAnpbes) 2

(A)
(B)
©)
D)
(E)

CAGS/2022

ggreugl plaeare) eubetany Wan@b War@b shmed Qewdpenn
Tregwregl aeflfld flaaeld Qardaughars Hms WED wWen
SearBibd Bar@b o kisEss@ar efen eT(pLILD (PO

Gmg’)s;as‘zm_' Tgla|b @dame

eflenL QgMweldena
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128. Minamata disease, a neurological disorder affecting human beings, 1s
caused by the pollutant ‘

(A) Arsenic

(D) Aluminium
(E) Answer not known

Qeneumid ey e WarGolLm Crri” erariu@b  wefigisefar  BrbY
waT_asms sTEGD Comioar ghLbSSHDS ?

A) oireeils
(B) smfgwb
© ubrrgU&Lb
D) sigdeiwub
(E) e Qzfweicrene
129. Identify the false statement.
(A) Ladakh is called Little Tibet.
(B) Bhutan is a buffer state between India and China.
(C)’ Nepal is a land locked country.
W Only four states of India touch the Nepalese border.
(E) Answer not known
SEUDTET FaHm TSI ?
(A) oLrs ‘Adu HAus’ aar D@pssLLGEDS-
(B) e, e wppid @pHurelen GeLulwmar @enamriiy LGS @LD.
(C) Gpumerd Hleob GP BILIGD |
D) @pdwrellar pre wrhlonmsGar CrLTET crimaen) an@ﬁm@m
(E) oMe Qgflwelcorene
I 41 ‘ CAGS/2022
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130. “Unfinished” — A memoir 1s an autobiography of the actress

(A

Mala Sinha

W Priyanka Chopra Jonas

(©)
D)

Rekha

Hema Malini

(E) Answer not known

Wy ssuuLeidame : @ Haaesd (Unfinished — A memoir) eis pryasuder
swafgd b .

(A)
(B)
©
D)
(E)

e feranm

QAwksT Gamiigm Gggmetreiv
Grsm

Camwrmede

alenL Qgfwelerena

131. Mention the year, Pani Panchayat was formed in Odisa.

(A)

1999

2000

©
(D)

2003
2005

(E) Answer not known

eflemeller samentit LEEeFTWS QBTRs UL L < &TE.

(A)
(B)
©
(D)
(E)

CAGS/2022
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132.

133.

134.

“Satyameva Jayate” Truth alone Triumphs originally written in the

language of

Devanagari (B) Urdu
(C) Sanskrit (D) Hindi
(E) Answer not known
“s5uCwes  Oguts’ amimwCu  Caudgd  wadld  abs Qumue
TSI (heTerg) ?
(A) Gseaupsf B) 2 ms
(C) swevdlmsbd (D) ablpd
(E) &M Qzsfweierencw
Which race is found in the Himalayan and Sub-Himalayan regions?
(A) Indo — Aryans (B) Dravidians

&’ Mangoloids (D) Arya-Dravidian
(E) Answer not known
@urewn LHYID S @rewiL ArGssriseild sraiLLSsmigW GlaTD gl ?
A) @Csr — piwirse (B) Syredlirser
(C) wrGsmedlwir . D) <iw — Hrredliser
(E) &fenr Qzfweildene
The Airport Authority of India (AAI) has a Civil Aviation Training
college at
(A) Delhi &7 Allahabad
(C) Bangaluru (D) Kolkatta
(E) Answer not known
@pdHw efwrar Henow H@meuDd FLPSTL pHTL Awrerts LWAHAE sogrfl ermbi@
S| EMLOHGIETATS ?
(A) Qreved B) siwstuns
(C) Qurus@n (D) Qsreovrassm
(E) oo Qsflweiioane
43 : CAGS/2022
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135.7 Which out of the fbllowing 1s a west flowing river in India?
(A) Mahanadhi (B) Krishna
M Narmadha (D) Godavari

(E) Answer not known

Yeraumeauarauniled Gpdureler Cuone Coréd LTy B 6g 2
®)  wsnps B) Swayerr

(©) piosn | D) Gsrsrauf

(E) el Qsfueidree

136. Consider the following Statement/s is/are true in respect of Himalayas.

(1) The Himadri range consists of many snow capped peaks such as
Nanda Devi, Kamet and Trishul.

(1) The Himadri range is called as “The abode of snow”.
(A) () only (B) (i1) only

\V Both (i) and (ii) | (D) None of the above
(E) Answer not known

&Cp  Qar@ssluu erer @b Cgrfurar sy /spmsmer  &smEsdd
Cerar® sflurarens Ggfey Qsuis.

() adwrpfl Asmigrang pEsTCsEd, G WHMIL diflageed Cumeiy Lo L
Wpiqw Ssrhisamens Qama(erars). :

(i)  aflorpd Ggr_grarg “Leafluler 2 apei_ib” aerg) SADWESLILGEDG).
A) (@) e (B) (D) wi@w

© @), (i) 2hu Grareu D) CopmBluapdo agand Gome
(E) e Qsfwedevena
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137. The National Ihtegration Conference under the leadership of Nehru was

held in
.u( 1961 (B) 1960
(C) 1959 (D) 1962

(E) Answer not known

Crm smwamvlorar  Caélw REH@LUUTLH  SHSSTEISD B Gupp

<2 (h.
(A) 1961 - (B) 1960
(C) 1959 (D) 1962

(B) &feor Qsflweieeme

138. The practice Qf Sati was declared “illegal and punishable” by
@ Lord William Bentinck |
(B) Lord Dalhousie
(C) Lord Cornwallis

(D) Lord Wellesley
(E) Answer not known

o | ansl el gmib eupdsh FLLSHHEG LpbUTET, s@T_maTSEGSNL GDHDOD s
galwieuim

(A) eeellwib Quagm Gy
(B) LoGgpad G

(C) snyemeumeden Ly

D) QaubQaaved ¥y

(E) oMo Qsflwelcorene |
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139. Assertion (A) :

Reason (R)

Chauth and Sardesh mukhi were the important
sources of Maratha state Revenue.

Chauth was a charge of 25% of the land Revenue of
the area which was claimed by the Marathas as a price
for offering their protection against foreign aggression.
Sardesh Mukhi was a charge equal to %O of the land

revenue.

(A) (A) is true but (R) is false
W Both (A) and’(R) are true (R) is the correct explanation of (A)
(C) (A) is false but (R) is true
(D) Both (A) and (R) are true but (R) is not the correct explanation

of (A)

(E) Answer not known

amopm  (A)

smyemd  (R)

sais wpmid FiGsapepdl aufledr wITEHL mfler ApsHw
QU(HGUTL LFTTRIGET G Lb.

D segaull  eaetug  igmelluiseiler  <eusSTAr9 L mis)

ungisnés Geuetmg. Guwnss Hlaeumeuruder 25% augedssiiu Lg).
‘siCsaippd afl Aoamamnid usdod om uns (%0)

W@cﬂésesuut'_l_g.

B) (@) of gyamo R) soug.

B A) vigd R) wdu @rarew sf. (R) erarug (A) pe sfwmear
eflengaELTELD. ;

© (@) sap seme R) o,
D) A vpgd R) @wdu rer@b & <emmed (R) erarug (A) i@ sfwmen

NleTdELD .

(E) &far Qsfwefcrena

CAGS/2022
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140. Who appoints the member and chairman of the Central Information

Commission?

M President alone can appoint

(B) Chief Justice of Supreme Court of India
(C) Committee under the leadership of Prime Minister
(D) Home minister of the country

(E) Answer not known

DEEL SEID Y@EMTLISSE SDOGIT LOHYILD o miQeniseer HlwblliLg wm?
(A) Gywres s LG QuJL&a;smm

(B) o ss8fwenp swaow HEUS

(C) WYyswer Sip 2 6teT SeOLIL

D) o crmodn AMWLESFT

(E) ol Qgfweidvene
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141. Match the following and choose the correct answer from the options

below :

States
(a) Kerala
(b) Nagaland
(¢ Maharashtra
(d) Haryana

@ ® (©
A 1 3 2

qﬁv"3 1 4

C) 4 3 2
D) 3 4 2

(E) Answer not known

(d)

=N

Jomk

Formation (Year)
1963
1966
1956
1960

SRR S

sramiubibd  uUlgudsmer Qummsss. GApeg  slwurer

&G
CoibOsmése,ib.
wrhlen
(a) Cayerm
(b) prererbs
() wapTyTeyiq D
(d) emAwnerr
@ ) (©
A 1 3 2
B) 3 1 4
©C) 4 3 2
D) 3 4 2
(E) e Qsfwefdrena

- CAGS/2022

A

(d)

=N

Camdmid (Qu(pLLb)
1963
1966
1956
1960
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142. Fundamental Duties were incorporated in the constitution on the

recommendation of

(A) Shah Commission
(B) Santhanam Committee

(C) Administrative reforms commission

M Swarnam Singh Committee

(E) Answer not known

Sl LIl E SLEE SATSlueebliid Geirgs LfBgImD CElSS.
(A)  eym yeemTwib

(B) spsmand sy

(C) fireuns ErdBss <pemamuid

(D) seugadln &

(E) Mo Qzfwelcorene
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143. Which of the following 1s mismatched?
(A) Article 40 : Organisation of village panchayats
(B) Article44 : Uniform Civil Code
M Article 41 : Organisation of Agriculture and animal husbandry
(D) Article 39 A : Equal Justice and free legal aid

(E) Answér not known

SPERTLcupHmIET Seuprar anmhenm &L (&

A) 94 40 D Somo uEEETWSS LI

(B) ofd 44 : Qung Al @ ASE

(C) &84 41 P elleusmub whmIb STOB@L eueTiLiL] @@Ly
D) 9 39A : swss wom Qaoeus gL 2 gefl

(E) &fenr Qsfwefcrane
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144. The followings was included as part of the Land reforms initiated in

India?

(A) Abolition of Intermediaries
(B) Tenancy reforms
(C) Reorganisation of Agriculture

7 All the above

(E) Answer not known

@pHureiler QprimslulL  Hlag SidmsssHan  LGHUTE  HeaumHeler

CarsasliulLg?

(A) @aLssraismern @fissd
(B) @ssws Siflpssrise
© | efeusmw wmETELOLIL
(D) GuwGe 2 drer DaTSSID

(E) Mo Qsfueioame
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145. The following is/are the objectives of Fiscal policy
(1) Improving the Growth performance of the Economy
(1)) Ensuring social Justice to the people
(i) Full employment

(iv) Exchange Rate Stability

& () and (ii) only
(B) () only

(©) (i) and (iv) only
D) (), (i), (iii) and (iv)

(E) Answer not known

Spssa_amas HHsQsrarapsule Cpréan/Crréstiser :
() Qurgermgmy aerisd Qeuddpeen Gubu@sgsH
(i)  wssEsE seps fHaou o pb Qewisen
(1) e Caueaeaumiiiy
(V) Aoowrer brpy 8s0
@A) (@) wppid (i) we G
B) © wpw
(O () wopnd (v) we o
(D) @), (D), (i) wpmo (iv)
(E) oL Gsfluaioeme

CAGS/2022 '. 52



146. Choose the right answer:

Mangal Pandey openly called the Indian soldiers to take revenge against
the British on

(A) 23t January 1857 (B) 26th January 1857
7 29 March 1857 (D) 8t April 1857
(E) Answer not known

sflurer eLew CarbsHs :

pRsd uraTCL @pdHwu Gumr eijfsmer DRSS < mACowiTsmer LIHeMhIS
LA RISLNS Fblw BT

(A) 23-1b gareufl 1857 (B) 26-i sganeufl 1857
(C) 29-b wmirg 1857 (D) 8-yib guuged 1857
(E) oMev Qzfweilerened

147. The Cabinet Mission plan was “The best plan put up by the British
Government under the then circumstances” described by

(A) Nehru @ Candhi
(C) Rajaji (D) Jinnah
(E) Answer not known

SiDEET®  SIEHSW SHLLb, ‘a@pu  STRs Gpale QamarHeuruulL

o anangiomer S b erenyl euianlisgeu.

A) Gpw B) smpd
() @y (D) enerm
(E) olerL Osflweddana |

n 53 CAGS/2022
[Turn over



148. Gandhi got help from Sardar Patel to organise the no-tax campaign for

149.

CAGS/2022

the peasants at

(A) Gujarat

(C) Surat

(E) Answer not known

(B) Kheda

W Khera

efleusmuis@nde e eu @é)surr dysemrsens gHur® Qeuw sigmr LGLLb

Qb sTH 2 g6l Quppmir.

(A)  egmsdo
©€) @5
(E) &enr Qsfwefdrane

Match the following :

(a) Justice Party

(b) Self Respect Movement

(c) Sataya shodhak Movement
(d) Satya shodhak Samaj

@ b (© @
w 4 3 1 3
B 3 4 1 2
© 2 3 4 1
DO 4 3 2 1
(E) Answer not known

QuUITBSSIS :

(a) Bhssrd

(b) sw wAures Qusshd
(©) s38w Gsnss @uissid
(d)

gsw Gongs somsy

@ ® @ @
A 4 3 1 2
B) 3 4 1 2
<€) 2 3 4 1
D) 4 3 2 1
(E) ofer QsfAwefevanew

54

(B) GsLn
(D) Gagr
1.  Jotirao Phule
2. Chhtrapati shanu Maharaj
3. E.V. Ramasamy
4. T.M. Nair

N s

Cerdlymeu yCe
e88Tudl e WaMyE
r.Cau. grwamd

g 6TLD. BTWIT



| 150. Kulakalv‘i‘Thittam was introduced by

A4) K. Kamaraj @7 C. Rajaji

(C) C.N. Annadurai (D) T. Prakasam
(E) An‘swer not known

Gws svals HULsos SflpsuusSwe

(A) K. smwogrer (B) C. prgred

(C) C.N. é{dnmnéjmq (D) T. Qpared

(E) Mo GzsfMweiideame

151. “India wants only Purna Swaraj and not higher powers and more

employments” - Quote was given by

(A) J. Nehru (B) Rajagopalachari

(C) Mahatma Gandhi W Annie Besant

(E) Answer not known |

“QrdureinE Gomes e ssBATD WOHIL CeuamaauTiILILSET pammad e wiflw
Lgedsar e ears sablweui. |

A) . Csm (B) grgr Gamumesil

(C) wsrswT &THS (D) <enafl Qusar

(B) oo Gsfuciome
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’ Foeman’s insolence o’er grown

To lop away no keener steel is known

......

ceee

\M Wealth

©
(E)

(A)
(©
(E)

Intelligence

Answer not known

o QEmiph QemeE SimisED
T2 Sigeilan snflug G’ — erar eudremeurt GPUGHeug) ?

Q&eveuid
Gaerell @prarid
eflen QgNweleraney

> What does Thiruvalluvar mean?

(B) Knowledge
(D) Bravery

(B) <idley
D) &Sywd

153. Though sharp their wit as file, as blocks they must remain,

In the above Thirukkural whom does Thiruvalluvar

and their wit is file”?

(A) The one who does not speak truth
\% The one who does not have human courtesy

(©
D)
(E)

The one who has no wealth
The one who has no foes

Answer not known

SHTCUTID Snienio wrGrend wrbGuTedeul wm?

(A)
(B)
(©)
(D)
(E)

CAGS/2022

2 ML QDO THeuT
&5 LTl mgeur
Qurmer @denseui
L& @Q)eOemgeu it

aflen Qs flweleenay
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154. The original namé of Karikal chola
(A) Karikala (B) Arunmozhi
W Thirumavalavan (D) Sundarar
(E) Answer not known

sfsn Gempailar @UOAULIT

(A)  sfsmeer (B) <imer@uomdl
(€) Aoreserasn D) spsrh

(E) ofeL Gsfucioma

155. “Namaarkkum kudiyallam Namanai Anjam” - Identify the poet who had
composed the poem.

(I am not a slave for anybody. I am not afraid to Yama Dharman)

(A) Thirugnasambandhar
| M Thirunavukkarasar

(C) Manicka Vasagar

(D) Thirumoolar

(E) Answer not known
“Bromis@h @GgwoGambd pomar <ie5Cambd” eremyl LIMgueui Wi ?

(A) SmeransbubST
(B) &mpreyssrsi
(C) wrafllsseunssi

D) dmeper
(E) eer Qzflweildana

n 57 CAGS/2022
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156. ‘Nee Kandanaiyo? Kandaar Ketanaiyo? - Who spoke these words and to
whom?

(Did you witness? or did you hear from any witness?)
(A) Hero to his friend
W Lady love to ministrel/musician

(C) Lady love to her nurse

(D) Lady love to her hero
(E) Answer not known

B san_maGure sar_rt  CslLevanGuim’ @uum e el wrr wrfln
elaraflwg ? '

(A)  soaedar CamuiL ib
(B) seeei urewedib

(C) soo Qsafaluiib
D) sow swauaib
(E) e Qsflueloame

157. Kaviripoom pattinam was engulfed by the sea during 27 century A.D
was mentioned in which book?

(A) Kundalakesi @ Manimekalai
(C) Silappathikaram (D) Valaiyapathi
(E) Answer not known

eTbg B sredlflybuliqard &.19. 2-1b BEIODTERTq.eh SLTed (PP&HIGESILL LG eran

GUCICEER,
Q) Ga_aCGsa (B) wallGusame
C) Aeuudasmyn D) aueerwmug

(E) e Gsfwefoama
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158. Why Chennai is called as Banking capital of India?

M Attracted investments from International Finance Corporation and

(B)
(©)
D)
()

World Bank

High Domestic saving
High Percapita income
More number of Borrower’s

Answer not known

e Qsaraman cukifls SMOBSTD eTan S@PssiLbEDS ?

(A)

(B)
©
(D)
(E)

o w5 e wombd uaari@® B Hpeaseidbs ofs erefled
WPsSDEMmeT FTSGIETETS)

<idls o arpr () Celly
2 WiMhs geor @J@Lorrsmb
<1fs aanaflsmaioner sLer CupLeTsET

Mo QgNweleorene

159. The Tamil Virtual University was renamed as

M Tamil Virtual Academy
(B) Tamil Virtual Agency
(C) Tamil Visual Academy
(D) Tamil Visual Agency
(E) Answer not known
sl QaaTy  UOSMEEPED erer  Quwi  wAHOL
QewwitiL(HeTerg|. '
(A) s Qe sOIESDSED

(B)
(®)
D)
(E)

s @emenrw Hlmieued
gD &8 sHal&sps0
s sT 8 Hipeuerd
e QgMNweldreme
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160. Human Development Index is based on

(A)
(B)
©)

(E)

Life Expectancy Index
Education Index

GNI per capita

All the above

Answer not known

waflg cuanisdls @Ml rearg SlgliLeLwns CararLg).
Q) @y sren
B) soa

©
D)

(E)

seipui Qurss Casflw auawrend (GNI per capita)
CuCe 2 drer iamargg)ib

eflen Qs MNwelecvana

161. Tamil Nadu Rural Transformation Project is assisted by

4

(B)
©
(D)
(E)

World Bank

United Nations Organization

International Fund for Agricultural Development
Asian Development Bank

Answer not known

8UIDETE a5 Lssnéas L sHbs 2 56 8g).

(A)
(B)
(©)
D)
(E)

CAGS/2022

2 5 cunid

R&EAW BrOseT FanL

efleusmu Gubumighamer sreuCge 4
S aueriiEf curid

edlenL Gz fwellcrena
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162: How many Revenue Districts are there in Tamil Nadu during 20217
M 32 (B) 33
(C) 36 D) 38
(E) Answer not known

2021—6 SOPHTL 146 THSET GU(HEUTU LDTEUL L BISEHT 2 GreTen ?
A) 32 (B) 33

(C) 36 (D) 38

(E) oo Qsflweildene

. . : : . 5n*+3n
163. In an Arithmetic progression the sum of first n-terms 1s —————.

the 10tk term.

A) 39

B) 59
G 49

(D) 69

(E) Answer not known

Find

5n° +3n 0%

em LS Ggmflear (pse n—o miiysetlen s b 5 eraflev,
o iUy
A 39
B) 59
©) 49

D) 69
(E) oMer Qsflweideme

n ‘ 61 CAGS/2022
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164. Find the 19t term of an Arithmetic progression (A.P) —11, —-15, 19, ....
v 83 |
(B) 61
(C) -116
(D) 80
(E) Answer not known

—11, -15, -19, .... aréip sl B$ Qs cuflewsuden 197 o miievus srars.
A -83

(B) 61

(C) -116

(D) 80

(E) e Qsfweldama

165. Find the next 2 terms :
4,5,12,17,28,37, _ ,

" 52,65
(B) 50, 66
(C) 36,67
(D) 40, 77
(E) Answer not known

QAsrifler ShSs QW TRTHE®TE STERTS :

4,5,12,17,28,37,
(A) 52,65

(B) 50, 66

(C) 36,67

(D) 40, 77

(E) e Qsfweddvana
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f 166. Two dice are rolled once. How many possible out comes are there?
G 36
B) 26
©) 30
D) 32
(E) Answer not known

Qran® LUSLSET Q(HIPED > LU Aamer. Sigar CIEs N enerasartl e
craTenilEans CTeve ?

(A) 36
(B) 26
(C) 30
D) 32
(E) oMer Qsflweicrena

167. 2% + 2% is equal to
@ 4

(D) 480
(E) Answer not known

2% 4+ 2% e wHOY

A) 4%

(B) 27

(€ 2

D) 4

(E) ol Gzflweideme
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168. The ratio between the surface area of two spheres is 9 : 16 then what is
the ratio between the volumes of the two spheres?

A) 3:4 _' 27 : 64

(C) 64:27 (D) 729 : 4096

(E) Answer not known

8@ Csmartisellan cuameruriysefer (LpLiLFLL) Mdlgd 9 : 16 erafled sieupdlen
& Sereysaflen cillgLd
(A) 3:4 (B) 27: 64

(C) 64:27 (D) 729 : 4096

(E) e Qsflwefdrena

2
cm’. If the outer radius is 8 cm, find

169. Volume of a hollow sphere is
. . 22
the inner radius of the sphere. (7 = —7—)

A 12
B 6
5
®) 9

(E) Answer not known

135°

@0 edafpp Carargder sar oaray &.0g.15 wHmd Qeuell <yrid 8 Qg.15

eraile) SiGECamensen o 61 Y TEMSE TS (7 = 27 6T60TS)
A 12

B) 6

© 5

D) 9

(E) &fenr QsAwefcrena
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170. Ashish opened a bookshop with an initial investment of ¥ 32,000. In the

171.

first year, he incurred a loss of 5%. However, during the second year, he
earned a profit of 10% which in the third year rose to 12%%? Calculate

his net profit for the entire period of three years.

u( Z 5,620 (B) % 37,620
(C) 7,620 (D) % 57,620
(E) Answer not known

opafles T 32,000 gybu WpsSyd @B LUSSESE soLOWS HDHSTT. PSD
e aTigd SleuBEE D% @wuy gHULLE. GBUEEID, QUTLTEUZ] ETIq0 Uit
10% QU FLiGET. EPEIDTLD e 12%% o WihSG. 3 GUHLIAEET
PG euTs HeT QTUS®S sasE (D&

A) ¥5,620 (B) ¥ 37,620

(C) T17,620 _ (D) ¥ 57,620

(E) oder GsNwecened

If a sum becomes double in 10 years. What is the annual rate of simple
interest?

A 5% | (B) 8%

2 10% D) 20%

(E) Answer not known

10 aumpLiiseied (p GgTens @ WLEE 2 fpg aafled aumLsHDE il ey
cigib erebren ?

A) 5% (B) 8%

(C) 10% (D) 20%

(E) e QzfNweildame

65 v CAGS/2022
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172. IfA:B=8‘:12 and B: C =24 :15 then find the ratioof A: B: C.
«(16:24:15 B) 8:24:15
©) 12:24:15 D) 16:12:15

(E) Answer not known

A:B=8:12 wpgo B:C =24 :15 aafléd A: B: Car cssamss sramrs.
(A) 16:24:15 (B) 8:24:15

(C) 12:24:15 M) 16:12:15

(E) e Qsfweldraa

173. Find the least number divisible by each of the numbers
15, 20, 24, 32, 36.
A) 2,880
(B) 1,660
& 1,440
(D) 1,330 |
(E). Answer not known

15, 20, 24, 32, 36 aranp araimsene auEGLLEsI W BasdBlL aaread s,
(A) 2,880

(B) 1,660

(C) 1,440

(D) 1,330

(E) oferr Qgfweioara
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174. Find the number of pairs of positive integers whose sum is 99 and

175.

highest common factor is 97
5 B) 4
€ 3 (D) 2
(E) Answer not known
am@s® 991, BuGu@p Qurg g aer 9p eeLw Was eanm Cmmgsafler
crasenilseans
A4 5 (B) 4
© 3 D) 2
(E) eferr Osfucidana |

In a leadership election between A and B, A win by margin of 192 votes.
If A gets 58% of the total votes. Find the total vote polled.

(A) 1,000

G 1,200

(C) 1,250

(D) 1,300

(E) Answer not known

o soomwaw CsibosHESD Caigedler A wpgd B pdu @ puirsefle
A syanaui 192 auns@aer efigHunasdled Qeupdl Qupdpri. Quwrss auTsGSETd
A syaauit 58% g Qupiflpmit arafler Lileumar Qurss auns@safean aamailsmns
A) 1,000

(B) 1,200

(C) 1,250

(D) 1,300

(E) Moo Qzsflweioame
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176. Sound travels at maximuni speed in
\M Steel
(B) Air
(C) Vacuum
(D) Water

(E) Answer not known

@ el oifls Coussdlad Qsaiib.

A) s

B) smm

©O) Qaupdiib
D)

(B) oL Qsflusiome

177. Mosquitoes breed on the surface of fresh water because of
(A) Viscosity

W Surface tension

(C) Cohesive force
(D) Adhesive force

(E) Answer not known

Qe peratfer Gumupi9e Qaru AuBpsasms gHLGSS WPy6uG) THATTED
A)  urdwe Devswird

B) vy @uelmswune

O eordoariy dasurd

D) @@ emswume -

(E) oL Qsfweldrens
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178. The carbon filament is invented by

179.

(A)
(B)

Ampere

Newton

M Edison

D)
(E)

Volt

Answer not known

sriuer Weraflay sam®gsseui

&)
®)
©
D)
(E)

< wir
Blu,l L e
6Tl & 68T
Geumed

e Qgflweldrene

If there is a solar eclipse the street will be dark. There is a solar eclipse.
Therefore, the streets are dark. What kind of reasoning?

(A)
(B)

Inductive reasoning

Deductive reasoning

\#” Conditioned reasoning

D)
(E)

Linear reasoning

Answer not known

&flw Srsamd gOULLTD osamd Qsnmésdr @EmeTTEb. &flu  Srsed
BBUUsTD Qm&seT @ MmeTTs 2 6Tengl. BF Teams sryeTliL(HSSISE ?

(A)
(B)
©)
D)
(E)

Qsn@ssd sryeriiLOSSISo
u@ssd sTreTILGSSISD
feouypssulL sTraTuUbOSSIS0
CpiGam (b smariubSssw
e Qgflwelerenew
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180. Name the Women’s Indian Association’s newspaper.

N7 4

(©)

Stri Darma (B) Mother India
Women’s Right _(D) Thai Nadu

(E) Answer nc;t known

Qbdw Quarsdr srssder Qeiidssrefar Quwir

(A)
(©)
(E)

S ol B) wsr @pHwn
Querseafler 2 fenw D) smiu prE
e QsNwefNcrana

181. Which one of the following provisions empowers the Election
Commission of India to notify election dates?

W Section 14 and 15 of the Representation of People Act 1951

(B)

Clause (2) of the Article 83 of the constitution

(C) Article 85 (2) (b) of the constitution
(D) Article 172 (1) of the constitution
(E) Answer not known

Epsramiiu@w 9Neysala 5 @bdwu Csoised ymarusdnss Corsen Caulene
2MlelsEn sifamynd salsdenmg ?

@)
(®)
©
®)
®)

CAGS/2022

wéaet INAHSsg6u oL b 1951-6r Gfleyser 14 wHmId 15 epeid
Sirsewlider i o ity 83 e 2.1 o gty (2) @ apeid
sirsewiider s o miciy 85(2)(b)—er epeons

sifsewiy sl 2 gy 172(1) epewns

e Gsfwelcvana
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182. Match the following :
(a) Kissan Suryoday Yojana 1. Fisherman Welfare
() Pradhanmantri Kisan Saman Nidhi 2. Students Welfare

Yojana

(c) Sagarkhedu Sarvangi Kalyan 3. Crop loan
Yojana-2

(d) SHODH Yojana 4. Electricity

@ ® @ @

@ 1 3 2 4
® 3 2 4 1
W4 3 1 2
™ 4 1 2 3

(E) Answer not known

Qummssworaaupan Peoamruibs :

(a) fsner @&TCwrGs GurgarT 1. Bemeuiiser peoer
(b) Ggsren wpHM Heren sbwer HF Curgerm 2.  LOTETAITEET B 6T
(c) s&nsiCag gieummidl sowme Cuimganm—2 3. ulirs sLer
(d) SHODH Guirgenm 4. Sewsmyd
@ ®» © @
A 1 3 2 4
B 3 2 4 1
© 4 3 1 2
D) 4 1 2 3
(E) e Qzflweferene
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183. Métch the following :
List I _ List IT
(a) Bassein Oilfield

1.  Guwarath Coast
(b) Digboi Oilfield 2.  Western Coast
() Ankleshwar Oilfield 3. Eastern Coast
(d) Rawa Oilfield 4.  Brahmaputra Valley
@ ® @© @
W2 4 1 3
B) 1 2 3 4
© 2 3 4 1
D) 3 4 1 2
(E) Answer not known
éreu(meuareupenm QummSSeyLD
U igwie I U guied IT
(@) urdlér eraTQearTi) euwie 1. ©gis sLbsar
() Hsumis eram@Qentis euwe 2. Cuhe s_paar
(€) <emsGaeyeut eramr@anmis cud 3. & sLpaay
(d) geur cram@enris auwe 4. Qyowousdyr udtaTssTas,

@ M @© @
A 2 4 1
B 1 2 3
© 2 3 4
D) 3 4 1
(B) oL Qsfusldme

N = N W
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184. Name the Russian traveller who visited India in 1474 A.D.

(A) Nicolas
(B) Rusputin
(C) Buccannon

U7 Nikitin
(E) Answer not known
1474 b e QpdwrelhE aups @reswts Lwerflulier Gl
(A) M&Camee
(B)  paipudle
(C) yspremrer
(D) pégen
(E) &Mer Qsflweildena

185. During the rule of Humayun, Bihar was under the control of
(A) Bahadur Shah

(B) Baz Bahadur
(C) Mohammd Zaman

W Sher Khan

(E) Answer not known

afwmyer < fHufer Cung), Jareny pefmeui wmi?
(A) usgnt agm

(B) uméy usgnt

(C)  wsog agmoer

(D) Qegir smenr

(E) &Mer Qasflwelcrenew
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186. Which one was called industrial ﬁax under Vijayanagar rule?
1. Attakada Sangam, Masthi
2. Padi Kaval
3.  Sandhai Mudhal
4 | Tari kadamai and Chekku Kadamai

(A) 1only
(B) 2only
(C) 3only

\V 4 only

(E) Answer not known

eflgw psr <irfled Spsar ois el Gsmfibsree el aar wimpssiL@Hemg ?
1.  @lismmshs, OTev )

2. umgs smeud
3. abes s
4

8il& sLew wHnb Cs&E SLeWw

A 1wEon
B) 2w@Eon
(C) 3wrEw
D) 4 wrEon

(E) oL QsAweloena
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187. Huns invaded India during the reign of

(A)
(B)

Kumara Gupta

Rama Gupta

W Skanda Gupta

(D) Vishnu Gupta

(E) Answer not known

Qb & ET <y Huder Gurg @pHwr Bg LeLCGUHSSTIEET.
(A) @I GLUST

B Qoo @ost

(C) evaps GLST

(D) eleiyam GUsT

(E)

e Qsflwaeildae

188. Harappa is situated in the Montgomery District of

(A)

D)
(E)

Persia

Iran

Answer not known

‘apgriLir e bgETar et _Camo Wwreul L Lb 6TMhi@ 2-6TaTg ?

A)

B)
(©)
D)
(E)

umg&sD
urdlevgmes
@
FFIFITGOT

Nen_ Qg;fﬂmaﬂe'uma)
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189. Match the following List I and List IT :
List I List I1

() The Family Court Act 1. 1984
(b) Legal Services Authority Act 2. 1987
(©)  Societies Registration Act 3. 1860
(d) Delhi Special Police Establishment Act 4. 1946

@ ® @© @
wo 1 2 3

4
B 4 3 2 1
© 3 4 1 2

3

D@ 2 1 4
(E) Answer not known

Qereumd uliqwed I wpmio urqwed IT sAwrs QummEES

Ul iguied I U iquen IT
(@) @ObU po BHwearn s ib 1. 1984
(b) &L Gsaveu P&y s 2. 1987
(© swps ey s 1d 3. 1860
(d) ol Amiiy sreud s Lib 4. 1946

@ ® @© @
Aa 1 2 3 4
B 4 3 2 1
C) 3 4 1 2
@ 2 1 4 3
(E) o Qsfueiome

190. When was the Punjab state bifurcated into Punjab and Haryana?

@ 1966 (B) 1956

(C) 1963 (D) 1947
(E) Answer not known

LEheTL wmbleid, L@peml woHmid enfluirearmeurs ﬁ]fﬂé;a;uuu_gu TU@uUTg ?
(A) 1966 (B) 1956

(C) 1963 (D) 1947

(E) e Qsfwefdera
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191. The Indian President’s ‘Veto Power’ is a combination of

1.
2.
3.
4

v
®
©
(D)
(®)

Pocket Veto
Absolute Veto

Suspensive Veto

Qualified Veto
1,2 and 3

1, 3 and 4

2 and 3

2,3 and 4

Answer not known

@pdw Grursssmaeuiler ‘sHrLT@an AHaETTSHD 2 erarsEuGULS.

1.
2
3.
4
(A)
(B)

©

(D)
(E)

ursQsLl HHLILTenesT

W perwrer shHLiLTenest
QeBss sHLILITMmERT
s@&Humlps ShHLILIT®e
1, 2 womw 3

1, 3 whmid 4

2 opmid 3

2, 3 womid 4

e Gzfweldemae
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192. In India the constitutionally quaranteed fundamental right to “freedom
of speech and expression” is subject to the conditions of

@

(11)
(111)
(iv)
(A)

(B)

not offending decency -and morality
not committing any contempt of court
not undermining the security of the state

not against any religious sentiments
(11) only

(iv) only

N (), Gi), and (iii)

(D)

(E)

(1), (i1) and (iv)

Answer not known

Qrdu  ewrdueenriys sLLSHD  Sgliuani 2 MevwaEndr  Qemmrs
w@sLubssuLLBeter  ‘Cuéss  aspdyn’ cetLg  EpaTamid  eThs

Blubsears@pé@Lr UL Lg) ?

()  pwouey wHmIb RP&E&BNSEEE LIYILTLTS GdmToed
(1)  gwenn ey @oamod

(111) eyyfer LrgISTUIAHE Lkisb gHu@ by B

(iv) g pLASsMssEbsS, alrrangns @demoe

A) (i) vrEw

B) ({v) v

(©) @), () wpgid (iii)

D) @, (D) wpps (v)

(B) o sfuadama
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193. Which of the following is not the instruments of fiscal policy?
(A) Budget
(B) Taxation
(C) Public debt

M Bank rate

(E) Answer not known

QemaumeiaTeldmeT arg B Qamarasular smal e ?
(A) eurey Qseey SLLb

B) af

(C) QungsLer

D) eamd &isbd

(B) oo Qsfucidame

194. Committee was setup to review the concept of poverty line.
(A) Lakdawala committee -MSUreSh Tendulkar committee
(C) Wanchoo committee (D) Dutt committee

(E) Answer not khown

& opeows Gsrh upilu &GHS®S LI Qawiw

SBESILLL G
(A) os_eumOT G (B) &Greiy QLamhievst &
(C) aunen@ &W D) s W

(E) oMo QzfNlwelcrene
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195. Which of the follovﬁng taxes are levied by Union govt but collected and
appropriated by the states?

(1) Sales tax
(11) Stamp Duty
(111) Excise duties on medical and toilet materials

(iv) Import duties
Select the correct answer by using the code.

(A) () and (1)
(B) (i11) and (iv)
(C) (1) and (iv)
& (i) and Gii)
(E) Answer not known
Qareumd  aflsefler ot WAL @irsTd - AHESILLE  LIR®  SigETD
u@Gd&sLILRS DG ?
Q)  efpumer au
(i)  opsdor e
(111) wEsgIe WHHIL SWHILPL QUL a6 Bsrar somd af
(v) @péewd a
GHSRseld @mba sNwrar el srams.
A) @) wpgo (i)
(B) (i) wpgw (iv)
©) (D) wpgd (v)
D) (1) wpgw (iii)
(E) e GsAuefians
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196. NITI Aayog established on

(A)
(B)
©
D)
()

(A)

January 1, 2014
January 1, 2015
January 1, 2016
April 1,2016

Answer not known

NITI ,Curé Si@wsslulLg.

syameul 1, 2014

O g 1, 2015

197.

©)
D)

(E)

A)
(B)

spameul 1, 2016
guge 1, 2016
e Qgflwaildeame

Sector contributes the most Income to Indian Economy.

Primary sector (Agriculture)

Secondary sector (Industry)

M Tertiary sector (Service)

D)
()

@pHu QurgersTsSHE ———

(A)
(B)
(©)
D)
(E)

None of these

Answer not known

(PSS D (CeuermaiTenio)
@rarLmb Heaasgmn (Csmfed)
eperprd Haaszon (Cema)
@apde ggidldme

Mev Ggflweiideame

81
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198. Which of the following statements about Brahmo Samaj is Not True?
(A) The purpose of Brahmo Samaj was to reform Hinduism.
(B) It preached belief in one God.
~ (C) It was based on reason.
\M It did not incorporate the teachings of other religions.

(E) Answer not known

Sy 0BRSS LHH e sapmiseiier erg sluneng side ?

Q) @bs soLwsDS siglmssioug b sommssen CBr&sLmELD.
(B) &Gy sLayer erenaid pib9smaew <18 CuTHSss).

C)  wig uEssion eigtiLeLLTssS Claram® iamwHdmbESs.
(D) g 90 swwriseer (Surrg,a)masu)af 2 GTeTL &6 evaney:

(B) oo Qsfuaidama
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199. Who among the following led the Khudai Khidmatgars in the Civil
Disobedience Movement?

(A) Abul Kalam Azad

(B) Imam Sahab

(C) Kelappan

(D) Khan Abdul Ghaffer Khan

(E) Answer not known

sl wpiy Qussgden Gung ‘@smny dwsstt’ adrgib QusssHDE s@wEL

audlggeui wmi?

(A) <y sembd H&TSH

(B) @uwmb sradls

(C) Gseriuen |
vV SIS DILIFIE) STSLIT STa

(E) e&ev Qsflweiicvanew

200. Collector Ashe was shot dead by Vanchinathan in the year

MJune 17,1911 (B) June 19, 1911
(C) August 17,1911 (D) August 19, 1911
(E) Answer not known
SQQELT ey auTEhABTseT arauarmed &G Qardeouul L p6m®
(A)  sgeer 17, 1911 (B) srer 19, 1911
C) «sevr 17,1911 D) =sev 19, 1911
(E) e QzfMwelcrene
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